WUH S8 H ARk

ML EEATRE R CRAEXD 2

Hop gl ST

I H

Rtk RGESEHH O

REmkat e REEEEEH O

R [ oooate | mgmmm | o0
2024£Efﬁ§%éé§ﬁ 4214. 3975 TG
SEHE R 8 B AR
SARGECH bR 20244E % H¥r
FOr N S R ) A AR G R O A R AN, 4R R R AR A
(Rt E K E,
— R FEhR R RRR =R SEH A BIARARME | MEERME
e bR EW SRR NEL — >11496 A
B AR — 100%
HEAE R — 100%
R EARAR
AN RN e 100%
Jaals s K=t
R A G — e
B G fE i B 2 — 100%
N EE A
fE 55 58 R S B 2R —— 100%
RAFEFR TEPATH — =90%
Z¥ S G RN BT E SRR —— R 4F
SRR R AU R A TS SR — AikE
B T 1A R — R iF
P Ao G k=7
U N s =85%
Riatars
o IR k2 e i HEsh 4 — B R itsh
ECSR A RRa S R4
ISR g wmese - e
Mo {RIER R et — K 4f
WES RS —— =200\
G | AESRARBEE — =90%
Wz h | PSR
Hin B AR A I = 100%
AR R R —— =90%




Wi H SUCHARAR

AW | (i) HERARETER GHEX)
FEFH 2 b FAb sl R R i
TARY, 'V 1T o\ 4o
FH] ol T\ RE B S AR B
Bgan o ) L e
w0 L o e 20244F | BB 20247
N Jf fal / =
2024@5&%%?& 4 s P, 608. 1773 7¢
i~ ,‘,w'-'ﬁ - R
S R B A E AR
SRS E FR 20244E & H AR
B R . YT AR X S R BB RN, (RIS R E ST
B, R AR E RE.
— R tabs &= =/ &=t SeHE A AR | AEERRE
RIS EWS R ANEL — 23462 N\
FBhE IR — 100%
MAMNR AN — 100%
AR
YRl R R 1 — TG
Rt
HBIREHERR — 100%
R NS — 100%
N
155 58 B M B 2 —— 100%
AT R TEPATE —_ =90%
Vo2 Gk L % I ) R IRR — BT
g €=
RN ARV e R — i
b T A — B 4T
LI
WA HE AR BUF SRE — >85%
ST - Rz O HESN VR — )
ﬂﬁ‘ﬁ%ﬂ[ﬁ]fﬁ Eﬂ%ﬂ%éﬁ@ — EEF
& -2 (R F A . B
RS HRAL —_ =200\
%%E% E&%Xﬁ%%% i}ﬁﬁ?f%)\ﬁﬁ%g{ S 290%
2 Bedithn T SE . 100%
il Y OBL R s e =90%




P T3 S0 H R
1 mBen] N () HEHEATE RS (LK)
SAN
o RESR <~ FAb L RS
NRroed = — 4

[

Rogm K S RIGESEEA O

\\Dﬁﬁﬁﬁjgjl

Rrem ke L Rk eEE O

AN~ R | 20248 B4 B 20244
2024 FH & 1323. 11 /370
S R 3 E AR
ARG H FR 20244F & H AR
B B W A AR G R TS R R AN, 4EE RETEL
3%, SRR E KR,
— R ARkR R ARR =% A8t S A RITRARE | MAEERE
BEHR EWBRBTNE — >8421 \
EANC RS B —— 100%
B HER — 100%
IGik=€izpa
V] WA — 100%
7= H AR
R A Ia — G
AR NSRS — 100%
(N EYEELD
R4 58 LI 2R — 100%
RAFEAR TAEPITE — =>90%
ZWMSIEIR | BBENERIEE = R if
SRR UG G A TR S E AR e AilE
{RFE T A R — R iF
PRV G =D
SR AR — >85%
MR g T
ﬁmﬂﬁiﬁmﬁﬁﬂ L R
B A Rt —— R F
ﬂﬁ%?“* 1 B 2 3 - s
A RRE R R A — R
HESHRAL — =200\
gy i e WESHEA R EE S =90%
Wity | PSR -
e B AR YR R — 100%
b R R — =90%




